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Direction : Answer the following questions
by selecting the correct option.
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Which one is correct?

(A) Asthenosphere—solid core—
mantle—molten core

(B) Molten core—solid core—
asthenosphere—mantle

(C) Asthenosphere—mantie—molten
core—solid core

(D) Asthenosphere—mantle—solid
core—molten core

Which one of the following is the most
common variety of igneous rock ?

(A) Basalt
(B) Diorite
(C) Granite
(D) Peridotite

Which one of the following is not a
metamorphic rock ?

(A) Gneiss

(B) Conglomerate
(C) Quartzite

(D) Schist

The maximum damage to life and
property is done by the

(A) surface wave
(B) transverse wave
(C) longitudinal wave
(D) primary wave

Folds in the mountains are the result
of

| (A) compressional force

(B) parallel force
(C) shear force

(D) tensional force
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6.

10.

1.

Which one of the following is not correct
about igneous rocks ?

(A) lgneous rocks are not fossiliferous

(B) Igneous rocks consist of silicate
minerals

(C) Igneous rocks are rich in natural gas

(D) Igneous rocks are rich in metallic
minerais

Which one of the following is not
associated with volcano ?

(A) Crator

(B) Caldera

(C) Erg

(D) Pumice

The mouth of a volcano is known as
(A) cone

(B) crator

(C) pipe

(D) volcanic chamber

Which one of the following is not an
erosional landform?

(A) Bajada

(B) Pavement

(C) Yardang

(D) Ventifacts

The term ‘wind gap’ is associated with
(A) glaciers

(B) fluvial action

(C) undergroud water

(D) wind action

Which one of the following is not an
agent of erosion?

(A) Seawave

(B) Underground water
(C) Weathering

(D) Wind
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12.

13.

14.

156.

6.

17.

The term ‘outwash plain’ is associated with
(A) glaciers

(B) rivers

(C) seawaves

(D) wind action

The term ‘inselberg’ is associated with
(A) glaciers

(B) running water

(C) underground water

(D) wind action

Which one of the following is the most
violent volcano?

(A) Hawaiian

(B) Pelean

(C) Strombolian

(D) Vulcanian

River capture is the result of
(A) downward erosion

(B) lateral erosion

(C) downword and headword erosion
(D) None of the above

The term 'Fjord' stands for

(A) asubmerged river vailey
(B): an emerged river valley
(C) asubmerged glacial valley
(D) an emerged glacial valley

Which one of the following is not an

antecedent river?

(A) Indus
(B) Kali

(C) Gomti
(D) Sutlej
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18.

19.

20.

21.

22.

23.

The general building up of land surface
because of deposition of materials is
known as

(A) aggradation

(B) alluviation

(C) denudation

(D) deposition

Gutenberg discontinuity separates
(A) mantle and core

(B) the outer core and mantle

(C) the inner core and outer core
(D) the lower crust and mantie

Lines drawn through places which were
affected by the earthquake at the same
point of time are called

(A) homoseismal lines
(B) isoseismal lines
(C) seismal lines

(D) None of the above

A stream whose upper waters have been
captured is said to be

(A) beheaded

(B) elbow of capture
(C) dry gap

(D) None of the above

The atmospheric layer reflecting radio
wave is called

(A) homosphere
(B) ionosphere

(C) stratosphere
(D) ozonosphere

The process in which incident radiation is
retained by substances is called

(A) absorption
(B) scattering
(C) diffusion

(D) reflection

18.

19.

20.

21.

22.

23.

THIMIGTR SRR T TR e A5 ol
(A) sEES

(B) e gl

(C) w&rs=A

(D) =@CEwe=

@ wash g e aa Ree csfl =
(A) SFTGH € (FETGA

(B) (FETSER ITAT T € BTG

(C) TBeR (@IS 8 IRTY (FUNTE

(D) TIe fmies 8 T

(T THCE G2 TN PR TIPS TR
CIETE WPEAE (F @Y 7 IF TV W OF
BRI

(A) @EFFEE

(B) =iRwnRFE

(C) Pram=

(D) SRR @A 7

@ TR TR ST TR TR O =W
(A) TET Fe©

(B) TMaICH %

(C) wE TP

(D) TR @IAIMR W

TEEE @ TS @O T dfowhie =
oI @ A

(A) T
(B) SIFEIE
(C) G
(D) STRIAIPERR

Cieeifeg oo R Rfsa omid @ smaien
TG 4199 FE A0 FT =9

(A) e

(B) fogad

(C) Rfee i
(D) dfswem

[PT.O



24,

25,

26.

27.

28.

29.
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An adiabatic change of temperature is
caused by

(A) increase in the moisture content of
an air parcel

(B) increasing amount of dust particles
in an air parcel

(C) expansion or compression of an air
parcel

(D) horizontal movment of an air parcel
The albedo rate is highest in which of
the following surfaces?

(A) Lake

(B) lce sheet

(C) Rice field

(D) Wheat field

Which one of the following is known as
the convective region of the atmosphere?
(A) lonosphere

(B) Ozonosphere

(C) Stratosphere

(D) Troposphere

Which statement is correct about jet stream?
(A) It moves in the stratosphere

(B) It moves from east to west

(C) It moves in sinuous bends

(D) It moves at a speed of about 50 km
per hour

Which one of the following does not
affect the horizontal distribution of
temperature?

(A) Nature of land surface
(B) Ocean currents

(C) Roaring forties

(D) Salinity of seawaters

Select the correct answer about tropical
cyclone.

(A) Intropical cyclones,air is essentially
heterogeneous

| (B) Tropical cyclones are associated

with fronts

(C) The cyclonic motion in tropical cyclones
begins because of Coriolis force

(D) Tropical cyclones are constructive
by nature
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30.

31.

32,

33.

34.

35.

The rain-shadow effect is related with
(A) drizzling

(B) cyclonic precipitation

(C) convectional precipitation

(D) orographic precipitation

The correct sequence of different layers
of atmosphere from the surface of the
earth upward is

(A) troposphere, stratosphere,
ionosphere, mesosphere

(B) stratosphere, troposphere,
ionosphere, mesosphere

(C) troposphere, stratosphere
mesosphere, ionosphere

(D) stratosphere, troposphere,
mesophere, ionosphere

The 'Ninety East' ridge is situated in
(A) the Himalayas

(B) the Indian Ocean

(C) the Pacific Ocean

(D) the Atlantic Ocean

The shallow stretch of ocean
adjoining land is known as

floor

(A) deep sea plain

(B) continental slope
(C) continental shelf
(D) continental plain

Isohalines are the lines showing the
distribution of

(A) temperature
(B) pressure
(C) salinity

(D) cloudiness

The salinity variation in the open ocean
are generally

(A) smali
(B) large
(C) zero
(D) None of the above
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36.

37.

38.

39.

40.

41.

The annual range of the sea surface
temperature in the tropical region is

(A) 7°

(B) less than 2°

(C) &°

(D) 10°

Archipelago is

(A) aring shaped coral reef
(B) a group of islands

(C) astream bed in a desert

(D) atype of glacier

The current produced by upwelling of |

cool water off the coast of Chile and Peru
is known as

(A) Agulhas current
(B) ElNino

(C) Humboldt current
(D) Canary current

Currents that flow from lower latitudes to
higher latitudes are

(A) cold current

(B) warm current

(C) tides

(D) tidal bore

Canary current flows near the
(A) coast of Africa

(B). coast of North America
(C) coast of Asia

(D) coast of South America

Most of the dissolved materials in

. seawater are derived from the

(A) seafloor
(B) atmosphere
(C) remains of marine organisms

'(D} continents
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42.

43.

44,

45.

46.

Upto 4°C the density of ocean water as a
result of decreasing temperature

(A) decreases
(B) increases
(C) remains constant

(D) first decreases then increases

The density of seawater depends on
(A) temperature

(B) pressure

(C) temperature, pressure and salinity

(D) salinity

Sargasso sea is characterised by

(A) very cold water

(B) a special type of marine vegetation
(C) very warm and highly saline water

(D) high density of water

The oceanic ridge comes into existence
because of

(A) convergence of plates
(B) divergence of plates
(C) orographic movements

(D) shearing of plates

In sea an echo sounder was first used by
(A) the German expedition

(B) the Norweigian expedition

(C) the British expedition

(D) None of the above
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47.

48.

49.

50.

51.

The line joining the points of equal depth
is known as

(A) isohaline
(B) isocline
(C) isohyte
(D) isobath

Knot is the unit of speed equal to
(A) 1.5 nautical mile

(B) 1 nautical mile
(C) 2 nautical mile
(D) 1.2 nautical mile

Which one of the following factors is
responsible for the change in the regular
direction of the ocean current in Indian
Ocean ?

(A) Indian Ocean is ‘half an ocean’
(B) Indian Ocean has monsoon drift

(C) Indian Ocean is a land-locked-

ocean

(D) Indian Ocean has greater variation
in salinity

Willy Willy is

(A) a type of tree grown in temperate
region

(B) awind that blows in desert region

(C) a tropical cyclone of the northwest
Australia

(D) a kind of common fish found near
Lakshadweep

A place where a particular plant and
animal lives, it is called

(A) ecology
(B) habitat
(C) hadal
(D) hook
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52.

53.

54.

55.

56.

Taiga is

(A) open form of boreal forest
(B) mangrove forest

(C) deciduous forest

(D) None of the above
Arboreals are

(A)

types of plants found in Tundra
region

(B)
(©)

types of fishes

animals and insects which live in
upper stories of the trees
(D) None of the above

One celled or many celled plants those
have no root, stem or leaf systems, are
called

(A) autotroph
(B) detritus
(C) algae
(D) grass

Water pollution in river is measured by
the dissolved amount of

(A)
)
(C)

chlorine
ozone

nitrogen
(D) oxygen

World Environment Conference to
discuss global warming was held in
1997 in

(A) Stockholm
(B) Rio de Janeiro
(C) Paris

(D) Kyoto
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57.

58.

59.

60.

The alpine vegetation in the western
Himalayas is found only up to a height
of 3000 metres while in the eastern
Himalayas it is found up to a height of
4000 meters. The reason for this variation
in the same mountain range is that

(A) eastern Himalayas are higher than
western Himalayas

eastern Himalayas are nearer to the
equator and seacoast than western

(B)

Himalayas

(C) eastern Himalayas get more
monsoon rainfall than the western
Himalayas

(D) None of the above

“Monoculture of commercially viable tree
is destroying the unique natural profile
of the region. Thoughtless exploitation
of timber, destruction of mangrove,
ilegal logging by tribals only compound
the problem. Freshwater pockets are
fast drying up due to deforestation and
destruction of mangroves.” The place
referred to this quotation is

(A) Kerala coast
(B) Sundarbans
(C) Andaman and Nicobar Islands
(D) Orissa coast

The greatest diversity of animal and plant
species occurs in

(A) temperate deciduous forests
(B) tropical moist forest

(C) heavily polluted rivers

(D). desert and savannas

Which of the following statements is correct
regarding "Green Climate Fund " ?

(A) It is intended to assist the
developing countries in adaptation
and mitigation practices to counter
climatic change

| (B) It is founded under the aegis of

UNEP

(C) It is signed by developing countries
only

(D) It was adopted in 2008
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61.

62.

63.

64.

65.

The most important strategy for the
conservetion of biodiversity together with
traditional human life is the establishment
of

(A) biosphere

(B) botanical garden
(C) national park

(D) wildlife sanctuaries

Many transplanted seedlings do not
grow because

(A) the new soil does not contain
favourable minerals

(B) most of the root hairs grip the new

soil too hard

(C) most of the root hairs are lost during
transplantation

(D) leaves get damaged during
transplantation

Which of the following statements is
correct about laterite soils?

(A) Lateritic soils are rich in nitrogen
and potash

(B) They are well develoved in Rajasthan
(C) They are brown in colour

(D) Tapioca and cashew nuts grow well
in these soils

The largest number of temperate
cyclones originate mostly over the

(A) Indian Ocean
(B) North Atlantic Ocean
(C) North Pacific Ocean
(D) Arctic Ocean

The height of midday sun at the equator
is never less than

1.

(A) 66 =

1
B) 235°

(C) 90°
(D) 30°
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66.

67.

68.

69.

70.

71..

All the weather changes are closely
related to

(A) pressure variation

(B) temperature changes
(C) humidity variation

(D) cyclonic activity
Doldrum is a zone of

(A) intertropical divergence
(B) intertropical convergence
(C) frontolysis

(D) local wind

Collision-coalescene theory was propounded
to explain

(A) tornado
(B) precipitation
(C) clouds
(D) cyclone

The central low pressure core of a
tropical cyclone is called

(A) col

(B) trough

(C) eye

(D) depression

Precipitation in the Mediterranean type
of climate is

(A) reliable

(B) unreliable

(C) highly unreliable

(D) highly reliable

The main cause of monsoon climate is
(A) low temperature

(B) high temperature

(C) undulating terrain

(D) seasonal reversal of wind
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T2

73.

74.

75.

Select the correct answer regarding
Indian monsoon.

(A) Indian monsoon has been described
as extended tropical cyclone

(B) There is absence of reversal of wind
in Indian monsoon

(C) The low pressure area remains
stationary over the north-western
plain of India during summer

(D) They result into heavy rainfall during
late summer season

Which one of the following is not a
characteristic of the equatorial and
tropical rainforest?

(A) Alush green biome
(B) Broadleaf evergreen trees

(C) Dense canopy usually arranged in
three levels

(D) Low diversity in plants and animals

Which of the following statements is not
correct ?

(A) The southern hemisphere records
more rainfall than  northern
hemisphere

The maximum rainfall occurs in a
belt about 10° to 20° wide near the
equator

(B)

Low rainfall is recorded between 20°
and 30° north and south

Latitude 0° to 10° south have more
rainfall than latitude 0° to 10° north

Select the correct statement from the
following :

(A)

The new alluvial soils are known as
bhangar

The old alluvial soils are called as
bhavar

(B)

(©)
)

Black soils are called as regur

Black soils have low moisture

holding capacity
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76.

77.

78.

79.

80.

81.

The percentage of decadal growth of
population (2001-11) is the highest in
which of the following States?

(A) Bihar

(B) Maharashtra
(C) Uttar Pradesh
(D) West Bengal

The growth rate of population of India in
2011 is

(A) 1.76%
(B) 1.00%
(C) 1.92%
(D) 2.00%

According to the Census 2011, the lowest
sex ratio was recorded in

(A) Andaman and Nicobar
(B) Dadra and Nagar Haveli
(C) Daman and Diu

(D) Lakshadweep

The Census 2011 is the
(A) 12th Census
(B) 13th Census
(C) 14th Census
(D) 15th Census

The growth rate of male population of
India in 2011 is

(A) 17.19%
(B) 18.12%
(C) 16.23%
(D). 15.66%

Regarding population growth during 20th
century, list the correct one from the
following :

Period Population Growth

. (A) 1901-1921 — Steady growth

(B) 1921-1951 — Rapid high growth
(C) 1951-1981 — Stagnant

(D) 1981-2001 — High growth with
- definite signs of
slowdown
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7

The child sex ratio (0-6 years) according
to Indian Census, 2011 was

(A) 912

(B) 918

(C) 917

(D) 920

The ratio of a population to a given unit
of area is called

(A) demography

(B) population density

(C) population distribution

(D) None of the above

The settlements found on the levees of
oxbow lakes are

(A) linear pattern

(B) circular and semicircular pattern
(C) triangular pattern

(D) star-like pattern

A series of concentric zone, each with a
distinct land use is called

(A) satellite town

(B) central business district
(C) metropolis

(D) Mone of the above

Change in demographic characteristics
is the consequence of

(A) literacy

(B) migration

(C) exploitation of minerals
(D) None of the above

Tae Palaesomagnetic results obtained
from India indicate that in the past the
Indian landmass has moved

(A) northward
(B) southward
(C) eastward
(D) westward
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88.

89.

90.

91.

92.

93.

Which one is correct ?
(A) Lead—Rampa
(B) Salt—Zawar

(C) Silver—Didwana
(D) Graphite—Bellary

Which one of the following east flowing
rivers of India has rift valley due to down

warping ?

(A) Damodar

(B) Mahanadi

(C) Son

(D) Yamuna

Which of the following places is known
for paper manufacturing industry ?
(A) Yamunanagar

(B) Patna

(C) Shahabad

(D) Dehradun

Which one is correct ?

(A) Barley—hot and dry climate with
poor soil

(B) Rice—hot and moist climate with
rich soll

(C) Millet—warm and moist climate
with high alluvial soil

(D) Tea—cool climate with poorer
soil

Which one is correct?

(A) Teak—Jammu & Kashmir

(B) Deodar—Madhya Pradesh

(C) Sandalwood—Uttarakhand

(D). Sundari—West Bengal

Which one is reasoned

sentence?
(A) Chennai is warmer than Kolkata—
Latitude

correctly

- (B) Snowfall in Himalayas—Northeast

monsoon

(C) Rainfall decreases from West
Bengal to Punjab—Western
disturbances

(D) Sutlej-Ganga plain gets
some rain in winter—Altitude

18

88.

89.

90.

91.

92.

93.

@b AT ?

(A) SE—=f!
(B) FREI—IEAR
(C) @r—fTueH
(D) ARFBG—@AR

% Sorerd! ey eifes T@R?
(A) AR

(B) s

(C) I

(D) T

e FieeR &+ s @m sl e ?
(A) TEHE

(B) ==

(C) =M™

(D) g

@D AP ©2?

(A) TRH—T= ¢ WE Ty ¥ T e
(B) #i—T% ¢ WY ey @R TL4 s
(C) To—T% ¢ oY oy g TR “Aferis
(D) B—Awe TERR ¥R SRR 6T

@ ol A2

(A) FH—eg e I
(B) CRMRA—ILAT™
(C) TMRIo—TBAAY
(D) TwA—tfoae

@ AFHT PR AT ?
(A) (FAIZ TS ST THe—SrHIRN
(B) R guRere—Ied-E (T a7

(C) “Fo® (AT NI I TR IS
YF—ATET! Al

(D) *rSH-915 FAGRCS NS I F—THO!



7

94.

95.

96.

97.

98.

99.

‘Saddle Peak’ the highest peak of
Andaman and Nicobar Islands is at

(A) Great Nicobar
(B) Middie Andaman
(C) Little Andaman
(D) North Andaman

Which one is correct ?

(A) Idukki—Thermal power station
(B) Sabarigiri—Multipurpose project
(C) Ramganga—Hydroelectric project
(D) Ghatprabha—Irrigation project

Which one of the following regions of
India is now regarded as an ‘ecological
hotspot’ ?

(A) Western Himalayas

(B) Eastern Himalayas

(C) Western Ghats

(D) Eastern Ghats

Which one of the following fuels causes
minimum environmental pollution ?

(A) Diesel
(B) Coal
(C) Hydrogen
(D) Kerosene

Which one of the following mountain
ranges spread over only one State in
India ?

(A) Aravalli

(B) Satpura

(C) Ajanta

(D) Sahyadri

Which one of the following does not

belong to biosphere reserves setup
so far?

(A
(B)
(C
(D)

Great Nicobar
Sundarbans
Nanda Devi
Gulf of Kachchh

St
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7

In the Indian context the term ‘de notified
tribes’ refers to

(A) tribes which are aboriginals

(B) nomadic tribes

(C) tribes practising shifting cultivation

(D) tribes which were earlier classified
as criminal tribes

Which one is corret?

(A) European Trans continental

railway—Paris to Istanbul

(B)

Trans Siberian railway— Leningrad
to Viadivostok

(C) Trans Andean railway—Leningrad

to Volgograd
(D) Orient Express—Paris to Warsaw

The ideal climatic conditions for the
cultivation of rice are

(A) rainfall above 100 cm, temperature
above 25 °C

(B) cool and moist climate for the entire
crop period

(C) rainfall below 100 cm, temperature
below 25 °C

(D) warm and dry climate during the
entire crop period

Which one of the following soil types of
India is rendered infertile by the presence
of excess iron?

(A) Desert

(B) Alluvial

(C) Podzolic

(D) Lateritic

Which one of the following types of

erosion is responsible for the formation
of Chambal ravines?

(A) Splash
(B) Sheet

(C) Ril

(D) Gully .
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The Himalayas are formed of parallel
fold ranges of which oldest range is

(A) Dhauladhar range

(B) Siwalik range

(C) the lesser Himalayas

(D) the great Himalayan range

‘Self-sufficiency in food', in the true sense
of freedom from hunger, has not been
achieved in India in spite of a more than
threefold rice in food grains production
over 1950-1990. Which of the foliowing
is the reason for it ?

(A) The green revolution has been
restricted to small pockets of the
country

The cost of food is too high compared
to the earnings of the poor

Too much emphasis is laid on wheat
and paddy compared to the coarse
grains

The gains of the green revolution
have largely accrued to the cash
crop rather than food crop

(B)
(©)

A surface separating two substances of
different properties is known as

(A) flat surface
(B) interface
(C) insitu

(D) undulation

Which one is not correctly matched?

Pass State
(A) LanaklLa — Ladakh
(B) Bomdila  — Sikkim
(C) Mana Pass — Uttarakhand
(D) ShipKila — Himachal
Pradesh

Which one of the following countries
shares the shortest boundary with India?

(A) Bangladesh
(B) China

(C) Nepal

(D) Myanmar
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Which one of the following separates the
Andaman from Nicobar Island 7

(A) 8°channel
(B) 9° channel
(C) 10° channel
(D) 11° channel

Which one is a biosphere reserve ?
(A) Buxa

(B) Dudwa

(C) Kanha

(D) Manas

Alaknanda and Bhagirathi make a

confluence at

(A) Dev prayag

(B) Karan prayag

(C) Rudra prayag

(D) Vishnu prayag

The northward flowing rivers of Tripura
are

(A) Longai, Gumti

(B) Juri, Muhuri

(C) Fenny, Manu

(D) Deo, Manu

In Tripura which river has been harnessed
for hydroelectric power generation ?

(AY Muhuri

(B) Gumti

(C) Haora

(D) None of the above

The national highway which joins Tripura

with rest of India through Assam and
Meghalaya is

(A) NH 34
(B) NH8

(C) NH4

(D) None of the above

22

110.

111.

112.

113.

114.

115.

el @@= ame @ Bk B9
Riften FE?
(A) 8° BiT=

(B) 9° ST

(C) 10° oIt

(D) 11° BNt

@I Tor TH FH?

(A) =

(B) Tre

(C) =r@

(D) W=

ErFTl ¢ SINAAR Rt @ =
(A) cRzEe

(B) wefemial

(C) =w ag

(D) Rz zratar

o Teafeyd afewEn 2=

(A) 1=, oS!

(B) wf¥, y=a

(C) cwa, s

(D) rs, g

oo @m TR weRkge Wfe Seome IRge
ER?

(A) T=8

(B) comret

(C) ew

(D) TR IR W

SIS 8 (IRIFEE 4 M SIRTes Syl SR

A (PN SIS FTHF W a7 387
(A) NH 34

(B) NH 8
(C) NH 4
(D) Tom @oE T



116.

17.

118.

119.

120.

7

All the rivers of Tripura are characterised
by

(A) treliis pattern of drainage
(B) dendritic pattern of drainage
(C) annular pattern of drainage

(D) None of the above

Which river in Tripura experiences tide?
(A) Muhuri

(B) Longai

(C) Fenny

(D) None of the above

Kailasahar is situated in the river valley
of

(A) Khowai

(B) Dhalai

(C) Manu

(D) Deo

Select the correct statement.

(A) Special Economic Zone (SEZ) is a

commercial region

(B) SEZ is confiend to the developing

countries

(C) india Passed the Special Economic

Zone Act in 2005

Economic laws are more restricted
in SEZ

Q)

Select the correct statement ?

(A) Chota Nagpur plateau has a great

variety of industrialization

(B) Singhbhum iron ore deposits lie to

the east of Jamshedpur

(C) Mica, copper are found in Shillong

plateau

Jharia coal mine lies to the north of
Jamshedpur

(D)
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The main objective of Special Economic
Zone is

(A) to promote foreign trade
(B) to create employment

(C) to accelerate the process of

industrialization
(D) to reduce regional inequalities
Select the correct statement.

(A) The headquarters of WTQO is located
at Copenhagen

WTO was established on
January 1995

(B) 1st

(C) WTO was created by Geneva Round
Negotiations

(D) WTO does not control natural
resources

Which set of crops represents cover
crops?

(A) Coffee and tea

(B) Garlic and onion

(C) Black gram and groundnut
(D) Maize and vegetables

Which statement is not correct about
New Agricultural Policy of India 2000 ?

(A) Private sector investment in
agriculture would be encouraged

(B) Protection will be given to farmers
against adverse effects  of
implementation of WTO agreement
(C) Restrictions would be imposed

* on the movement of agricultural
commodities from one State to

another

(D) Protection of farmers

fluctuation of prices

against

Green revolution in India is not

successfull in the
(A) Beas valley
(B) Brahmaputra valley
(C) Kaveri valley

| (D) Sutlej valley
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The most popular crop combination in
Punjab and Haryana is

(A) maize and wheat

(B) rice and gram

(C) rice and wheat

(D) sugarcane and wheat

Write the correct one.

(A) Centre for Arid Zone Research

Institute—Bangalore

Institute of Wood Science and
Technology—Allahabad

B)

(C) Centre for Forest Productivity—

Ranchi
(D)

Center for Social Forestry and
Environment—Jodhpur

The term ‘Golden Revolution® is

associated with

(A) tea

(B) coffee

(C) honey

(D) None of the above
The type of rainfall on the slope of Jayanti
hill is

(A) Cyclonic

(B) convectional

(C) orographic

(D) None of the above

The correct sequence of given hills from
north to south is

(A) Nallamalai—Nilgiri—Javadi—
Anaimalai

(B) Anaimalai—Javadi—Nilgiri—
Nallamalai

(C) Nallamalai—Javadi—Nilgiri—
Anaimalai

(D) Anaimalai—Nilgiri—Javadi—

Nailamaiai
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Leaching of soil is caused by
(A)
(B)

removal of debris by running water

changes in the soil through organic
activity

(€)
(D)

removal of organic matter by wind

removal of soluble matter by

percolating water

The main cause for the large scale
destruction of Savannah vegetation is

(A)
(B)
(©)

overgrazing
transformation of forest into pastures
into

conversion of forestiand

agricultural land
(D)
Plantation comes in the category of
(A) horticulture
(B) animal husbandry

None of above

(C) monoculture
(D) None of above

Which of the following trees, once very
popular in social forestry, is now taken to
be environmental hazard ?

(A) Babul

(B) Amaltus
(C) Neem

(D) Eucalyptus

The first gas based power station of

Tripura is in

(A) Baramura

(B) Dambur

(C) Palatana

(D) None of the above

In agrerian societies which index is
treated as better index for measuring
degree of population pressure ?

(A) Agricultural density
(B) Nutritional density

(C) Arithmetic density

(D) None of the above
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What is most vital factor that distinguishes
between rural and urban settlement ?

(A) Function

(B) Social organisation
(C) Social mobility

(D) None of these

The greatest potential for the generation
of tidal power in India is available in the

(A) Malabar coast

(B) Karomandal coast

(C) Orissa coast

(D) Guijarat caost
Chorochromatic map shows
(A) density of population

(B) distribution of population
(C) land use map

(D) None of the above

Daily weather map shows isobars. It is
an example of

(A) choropleth map

(B) isopleth map

(C) chorochromatic map
(D) choroschematic map

If the topographical sheet number is 76
A, the scale will be

(A) 1:50,000
(B) 1:250,000
(C) 1:1000,000

(D) 1:25,000
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Million sheet refers to the topographical
map of

(A) 4° latitude x 4° longitude
(B) 1° latitude x 1° longitude
(C) 30 latitude x 30’ longitude
(D) 15'latitude x 15" longitude

Find out the R.F when 4 cm represents
1km

(A) 1:25,000
(B) 1:50,000
(C) 1:10,000
(D) 1:100,000

The approximate radius of the earth in
kmis

(A) 12800
(B) 6400
(C) 8000
(D) 250000000

The formula of arithmetic mean of a
simple series is

2 X
Zix

N+1
2

(C) M=——thterm

(D) None of the above

The actual difference between upper
limit and lower limit of the class is called

(A) length of class interval
(B) lower limit of class interval
(C) class boundary

(D) None of the above

28 -

142.

143.

144,

145,

146.

@ SRbapS wwafs Rfera T «7 wwsfe?
(A) 4° STI x 4° Fiferes

(B) 1° =PI x 1° Tifee

(C) 30 Tied x 30" BifkrieH

(D) 15 =™ x 15 BRI

I TEGE CI AT €SI @ 4 cm 7|

1 km-@ Q@RI 2 $[@ OF CForse o
T

(A) 1:25,000
(B) 1:50,000
(C) 1:10,000
(D) 1:100,000

(A) 12800
(B) 6400
(C) 8000
(D) 250000000

T IR aMffe ofw-«g @i 2

> x
(A) M=-AT

i
(B) m==—

N+1
(©) m-2

(D) ToEF @I T

©F v

@7 THAN @ AN oS IYACE N W
(A) i FREw

(B) o IR4iR frrea

(C) o= Sttt

(D) TR @A



147.

148.

149.

150.

7

If number of observations is 30 and value
of arithmetic mean is 15, then the sum of
all values will be

(A) 15
(B) 450
(C) 200

(D) 45

The sum of deviation of n variates from
their arithmetic mean is

n+1
w7
(B)
(C)
(D)

- O

3

Median of the given score of 4,6, 8, 10,
12,16, is

Which of the following data collection
techniques is more likely to obtain
objective data ?

(A) Observation

(B) Questionnaire

(C) Psychological measure

(D) None of the above
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
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10.

1.

12.

13.

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened completely with
Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be changed.
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The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer Sheet.
Do not write your Roll Number anywhere else except at the specified space on the OMR Answer Sheet.
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Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except technical defect),
another set of Question Booklet and OMR Answer Sheet will be provided.
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The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the Attendance Sheet
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Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
devices or any other material except the Admit Card and Photo Identity Card inside the Exmination Hall/Room.
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Each candidate must show on demand his/her Admit Card and Photo Identity Card to the Invigilator/Examination
Officials.
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No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her seat.
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Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; ﬁrst after taking their seats
in the Examination Hall/Room and second at the time of handing over their OMR Answer Sheet to the Invigilator.
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The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet to the
invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not signed the Attendance

Sheet a second time will be deemed not to have handed over the Answer Sheet and deait with as an unfair means case.
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Use of any type of calculating device is prohibited.
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The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the Examination
Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the Board.
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No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
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On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the Hall/Room. The
candidates are allowed to take away the Question Booklet with them.
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